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1. RENEE
REHEE 4,174,194 3,718, 327 455, 867
ATiLE 10, 304 53, 408 A 43,104
RENEESE 4,184, 498 3,771,735 412,763
2. EEEE
(1) EARBAE
TEHTEE 5, 000, 000 5, 000, 000 0
HEABAESET 5, 000, 000 5, 000, 000 0
(2) BEEE
BEIRFTEIHEE 1, 440, 000 1, 320, 000 120, 000
RMERG | B EE 905, 459 783,712 121, 687
BETERILEE 500, 000 1,500, 000{A 1,000, 000
NEENEEEE 2, 850, 000 2, 850, 000 0
HEKBEBNEXEE 1, 000, 000 1, 000, 000 0
BEEESE 6, 695, 459 7,453,772 A 758,313
Q) ZDhEEEE
2= E 243, 741 365, 428! A 121,687
e 200, 000 200, 000 0
ZTDMETEEEEE 443, 741 565, 4281 A 121,687
BEE&EESET 12,139,200 13,019,200 A 880, 000
BESE 16, 323, 698| 16, 790, 935| A 467, 237
I BEDE
1. REIBE
XiLE 39, 273 31, 561 1,712
A2 0 2,000 A 2,000
FEUE 13,353 6,090 1,263
KIGENTREF 76, 000 74, 600 1,400
REIBESE 128, 626 114, 251 14, 375
2. EEAE
BESFTEISE 1, 440, 000 1, 320, 000 120, 000
EEBESRE 1, 440, 000 1,320, 000 120, 000
BiEEE 1,568, 626 1,434, 251 134, 375
I IEBREAEDER
1. ¥EEIERREAE
IBEEIEKRBESE 0 0 0
2. —PRIEMKRELE
Z D th— A% IELREA 14, 755,072| 15,356,684 A 601,612
— AR IERREAE AT 14,755,072| 15,356,684 A 601,612
(D BLERME~ADF T HEE) (5, 000, 000) [ (5, 000,000)| ( 0)
(OB EEE~ADITHE) (5, 255, 459) | (6,133,772)| (A878,313)
IERBIE & 14,755,072 15, 356,684 A 601,612
BERUVERKEESST 16, 323, 698| 16, 790, 935| A 467, 237




